
Lecture 3 - Sep. 14

Review on OOP

Object Orientation  
Tracing OO Programs, Aliasing, Arrays



- Lab0 Part 1 Due Soon
- Lab0 Part 2 Released on Tuesday
- Lab1 to be released on Friday
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class Point {
   Point(double x, double y) {…}

   double getDistanceFrom(Point other) {…}
   
   void move(char direction, double units) {…}
}

class PointTester {
   static void main(String[] args) {
      Point p1 = new Point(2.5, -3.6);
      Point p2 = new Point(-4.8, 5.9);
      double dist1 = p1.getDistanceFrom(p2);
      double dist2 = p2.getDistanceFrom(p1);
      p1.move(‘R’, 7.6);
   }
}

Parameters vs. Arguments

Template Definition

Method Usages
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Constructors not using this Keyword

model

Question
- What if names of parameter & attribute are the same?
- implicit “this”
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Tracing OO Code: Visualizing Objects Slides 24 - 28



Effects of Creating New Objects JUnit

model

- Variable Shadowing
- Visualizing Objects
- Context Object 
- this
- dot notation
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Accessors/Getters
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Primitive

Copying Primitive vs. Reference Values

Reference

Slide 50
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Exercise Peroni] persons
] stores the beginning address ofthe array
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